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MATH 153 CALCULUS I 31.10.2014

Izmir University of Economics Faculty of Arts and Sciences, Department of Mathematics

Midterm Exam 1

.............................

...........................................

e gl TR N
e = . (=P +3) x5q jx1t &

(b) :z:-BI—%"'!E-f-S T



)
(c) lim g R =8

z——1 w'i—l
irn _X_ii'_-—_s_ . Jxxy +3 1 xt_'
x—=-t x4+ = Mimn ——
Ixe§ +3 X—>—1 (x+)({xax +3)
= Lirmrm (K—-l) (M ke

oot |
(ot AUy £) 3

z?— 4z +8
2

(d) zEm =3 P

o >

XI'N\ M‘—___XL =9 =0
X—>- 4 3

238 |z — 5| — [3z — 7|

x5

I‘M E-f -_— /(IM N, e
| “xxS-3x+1 X% —u (x=5J Y




(2) Calculate the derivatives of the following functions:
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(3) (a) Find the equation of the tangent to the curve cos (H) T 5 at (3,1).
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(b) Calculate the derivative of the function f(z) = T directly from the definition
of derivative.
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(4) (a) Calculate enough derivatives of the function f(z) =

guess the general formula for f((z).
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(b) For what values of a is
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